Final Yearend Transformation Unit Review

1. If the function 
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is replaced by 
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then the new graph can be described as a reflection of 
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:
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2. If 
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is transformed into 
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, then a point with coordinates 
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will be transformed into what point?
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3.  If y is replaced by 
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 in the equation 
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, then the graph of 
[image: image18.wmf](

)

yfx

=

will be stretched

A. horizontally about the y-axis by a factor of 
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B. horizontally about the y-axis by a factor of 2

C. vertically about the x-axis by a factor of 
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D. vertically about the x-axis by a factor of 2
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4.
The partial graphs of two functions, f and g are shown below.

If graph g is a transformation of graph f, then the equation that generates graph g is
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5.
If the point 
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6. Consider the graph of 
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.  Under a series of transformations it has become 
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.  Which of the following is a possible transformation that has happened?

A. translated horizontally 3 units to the left

B. translated vertically 2 units down

C. horizontally stretched by a factor of 
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D. vertically stretched by a factor of 2
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Using 
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as the initial graph, the function 
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can be thought of as a:

A. horizontal stretched by a factor of 5

B. horizontal stretched  by a factor of 
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C. vertical stretched by a factor of 5

D. vertical stretched by a factor of 
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If 
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, the a function g that will have a domain and range that are both different from those of function f is
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The partial graph of the function 
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is shown below.  

If function 
[image: image46.wmf](

)

fx

is transformed to a new function 
[image: image47.wmf](

)

(

)

32

gxfx

=-+

, then the range of function 
[image: image48.wmf](

)

gx

 will be

A.

[image: image49.wmf](

)

11

gx

³-


B.

[image: image50.wmf](

)

9

gx

³-


C.

[image: image51.wmf](

)

8

gx

³-


D.

[image: image52.wmf](

)

0

gx

³


10.
If 
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11.
The graph of the function 
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is shown below.  Which transformation will change the domain of the graph of this function?
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12.
The partial graph of 
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 shown in graph I below has been transformed into the graph of 
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13.
If the zeros of the function 
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14.
The graph of 
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 is shown to the right.
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Which of the following graphs represents 
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15.
The graph of 
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is translated such that the equation of the new graph is expressed as 
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If 
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17.
Given the graph of
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Numeric Response

1.
The graph of 
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, where 
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, is reflected in the y-axis.  This produces the same results as translating the graph of 
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 to the right by _______ units. 

2.
If 
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 has an x-coordinate of _______ and a y-coordinate of _____



(record both digits on the response number 3)

3.
The graph of 
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is related to the graph of 
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 after a reflection in the y-axis , a horizontal stretch of _____ and a horizontal translation of _________ units right. 
 (record both digits in the response box 4)

Transformation Answer Key

1.
B
2.
A
3.
D
4.
D

5.
A
6.
B
7.
A
8.
C

9.
B
10.
D
11.
D
12.
C

13.
A
14.
B
15.
A
16.
C



17.
D


Numeric Response

1.
8
2.
12

3.
24
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